How to divide decimals:
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First show the division like this:
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56318+ 3.4 —8 34)55.518  Write in standard form.

Move decimal point in
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The quotient is 16.27. g



Now move the decimal point one place to the right, making the divisor (the number outside the cave) a whole number.  Also move the decimal point in the dividend (the one hiding in the cave) the same number of places to the right:
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 Divide as whole numbers.   65 goes into 169 two times with 39 left over:
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To continue dividing, add a zero to the right of the decimal point in the dividend. Then bring down the zero, and add it to the end of 39, making it 390 
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65 goes into 390 six times. We write a 6 above the zero in the quotient and put the decimal point just above the decimal point in the dividend:
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Example:
 
